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29. Ki#
(1) #d
OCTL—hr b UR—IBRBRETFE (000ky)
7 & o S 7 =5 — o 2
- I HE[E = whif7] A e
## JH 507.8 0.0 0.0 0.4 0.1 0.1 0.0 508.3
e & 637.9 0.0 0.0 0.1 0.7 0.0 0.0 638.7
s 5 1,285.6 1.0 4.0 0.0 137.9 0.0 0.0 14285
& 669.7 1.3 0.2 0.2 0.0 0.0 0.0 671.4
MR TZT 0.0 0.0 0.1 0.0 0.2 0.0 0.0 0.2
LRFET 35.5 3.0 26.5 0.2 6.7 12.0 0.4 84.3
s AR 97.0 2.3 234 0.4 1.1 0.0 0.0 124.2
Fars 284.0 3.4 38.7 0.2 4.1 4.2 0.1 334.6
ZrJE 45.1 0.5 77.2 0.0 6.4 1.7 0.0 130.8
L= T 113.2 0.4 55.7 1.9 2.8 9.7 0.0 183.7
NATA 50.3 0.6 33.2 0.0 6.4 3.1 0.1 93.8
MRHT>T 0.2 0.3 0.3 0.0 0.3 5.4 0.3 6.7
7T 23.1 32.3 65.9 0.9 36.7 72.6 15.5 247.0
FES 1,043.2 35.7 0.3 1.9 1.2 0.3 0.0 10826
& M 258.9 33.0 18.2 0.0 11.1 7.2 0.2 328.6
FET=T 289.6 1.8 0.3 0.0 0.5 1.0 0.1 293.2
Z O 8.5 16.9 9.3 0.7 6.3 1.0 0.1 42.8
% 5 5,349.6 132.5 353.2 7.0 222.2 118.3 16.7| 6,199.5
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET
EAN TS (TEU) ZEaL T
Tl 3 o W)= o —5"— = -
v | LT TEm T e [ em | aE e rrE | mad
2 [F 28,923 0 0 21 4 5 0 28,953 # [F 37,339
& & 33,778 2 0 3 36 2 0 33,821 = 36,522
5 72,892 58 211 0 7,232 0 0 80,393 5] 270,078
z k& 35,134 74 9 12 0 0 1 35,230 7 10,659
7T 0 0 4 0 9 0 0 13 Mp TS T 0
LRFET 1,810 168 1,404 13 353 606 19 4,373 LARRET 0
S LY 4,913 130 1,239 23 55 0 2 6,362 S 2,662
P 15,892 193 2,049 14 213 213 4 18,578 £ 10,954
T 2,757 29 4,087 2 333 84 1 7,293 T 294
L —F 6,157 20 2,949 106 147 492 0 9,871 vL— T 156
NAT A 2,648 37 1,758 0 338 157 6 4,944 N,F A 1,125
MRRT =T 0 18 15 0 13 271 16 333 MR 0
T 7 1,152 1,837 3,487 54 1,927 3,677 843 12,977 7T 14
2k 50,265 2,036 14 107 62 16 0 52,500 S 5,017
&I 13,018 1,882 966 0 581 365 8 16,820 BN 7
Ftr=7 15619 104 14 1 26 49 4 15,817 FET=7 7,605
ZDH )i 960 495 40 328 52 5 1,881 ZOM 0
w7 284,959 7,548 18,701 396 11,657 5,989 909|| 330,159 w7 382,433
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,

OHIT 4 —H—

- EFEEHA 2 T T EYIREIFEA (200345107)

- HEVBHERE (20034F, 7 L— bk hX—2)
[(B£] 2E@mHA = T T EYRBiiE & Bt O 7 « — 2 —Ri3, Basgh—HL s
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FIFEEE No.408

(2) WA
OCTL—hr b UR—IBRBRETFE (000ky)
w= —— TS 7 — 5" — @ =
g | P T | e | vl | A i e 7
[ 931.1 0.0 0.0 0.0 0.0 0.0 0.0 931.2
= 706.8 0.0 0.0 0.0 2.7 0.0 0.0 709.5
i [7 8,390.3 10.9 19.0 0.0 549.2 0.0 0.0 8969.4
Z 1,435.9 0.8 0.0 0.0 0.0 0.0 0.0 1,436.7
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SRR T 366.5 16.4 135.2 0.2 57.4 17.0 6.1 598.6
S 3404 3.6 4.0 9.0 4.7 0.0 0.0 361.7
e 1,055.7 3.4 37.3 0.0 5.6 0.4 0.0 1,102.4
TP 268.3 0.0 14.6 0.0 3.2 0.0 0.0 286.1
vL—2F 306.3 4.7 73.0 0.0 11.9 28.6 0.0 424.6
NATA 136.8 2.9 19.9 0.1 1.4 0.7 0.0 161.9
VL U v 0.1 0.0 0.0 0.0 0.0 0.6 0.0 0.7
7T 9.5 10.8 18.7 22.3 12.1 16.4 3.9 93.7
bES 1,156.9 94.0 9.8 2.0 0.3 0.0 0.0 1,263.0
Il 642.0 5.1 135.3 1.6 0.6 1.1 0.2 785.9
FET=F 728.8 3.6 0.0 1.4 1.0 0.9 0.0 735.7
Z O 19.1 8.9 8.8 0.3 4.8 1.0 0.9 43.9
@7 16,494.5 165.2 475.7 36.8 655.0 66.8 11.1)| 17,905.1
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET
EN TS (TEU) ZEaL T
7 P L VT o —5— = -
was | "7 TR T aE e | aE T e B (LA | R
& F 49,725 0 0 0 2 0 0 49,727 5 4,715
= 35,661 0 0 0 123 0 0 35,784 5 Z 1,339
i [7 387,855 579 960 0, 24,862 I of 414257 i1 [7] 1,455
s 65,005 44 0 0 0 0 0 65,049 S 398
7T 0 0 0 0 0 0 0 0 AT T 0
Rz | 17,392 873 6,820 8 2,597 846 284 28,820 LARRET 0
sevF—n| 16,930 193 201 415 213 0 0 17,952 S 34
e 49,778 183 1,882 0 252 19 1 52,115 P 15
ZryE | 12,683 I 737 0 146 0 0 13,567 ZrIE 103
~r—> 7| 14,270 251 3,685 0 540 1,422 0 20,168 vL— T 9
NAFA 6,965 155 1,006 6 64 36 0 8,232 NAF A 1
R 0 0 2 0 0 30 0 32 VL 1> 0
T 7 524 579 943 1,029 548 815 183 4,621 77 0
SIS 61,038 5,022 492 94 12 2 0 66,660 SIS 6,990
M 32,778 272 6,825 72 29 55 8 40,039 Ve 168
Fe7=7| 35025 192 0 64 44 45 I 35,371 FET=F 3,343
FOh 0 475 446 13 219 51 41 1,245 @z 0
w7 785,629 8,8191 23,999 1,701 29,651 3,322 518 853,639 g 18,570
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,

OHIT 4 —H—

- EFEEHA 2 T T EYIREIFEA (200345107)

- HEVBHERE (20034F, 7 L— bk hX—2)
[(B£] 2E A = 7 T EYRBliid & REHE 0w 7 « — & —Ri3, HAAR L T 5.
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30. RRIE
(1) #d
OCTL—hr b UR—IBRBRETFE (000ky)
7 & o S 7 =5 — o 2
- I HE[E = whif7] A e
## JH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e & 0.8 0.0 0.0 0.0 0.0 0.0 0.0 0.8
s 5 5.2 0.0 0.0 0.0 2.7 0.0 0.0 7.9
z 2.8 0.0 0.0 0.0 0.0 0.0 0.0 2.8
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LRFET 0.0 0.0 0.0 0.0 0.1 0.0 0.0 0.1
s AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 0.1 0.0 1.2 0.0 0.0 1.3
ZrJE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L= T 0.0 0.0 0.0 0.0 0.5 0.0 0.0 0.5
NATA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MRHT>T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FES 0.3 0.0 0.0 0.0 0.0 0.0 0.0 0.3
& M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FET=T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
) 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.4
@7 9.5 0.0 0.1 0.0 4.4 0.0 0.0 14.1
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET
EAN TS (TEU) ZEaL T
Tl 3 o W)= o —5"— = -
v | LT TEm T e [ em | aE e B rrE | mad
2 [F 0 0 0 0 0 0 0 0 # [F 0
= Z 77 0 0 0 0 0 0 77 % & 28
5 486 0 0 0 171 0 0 657 5] 4,582
z k& 179 0 0 0 0 0 0 179 7z k& 0
AT T 0 0 0 0 0 0 0 0 Mp TS T 0
LRFET 0 0 0 0 8 0 0 8 SRFET 0
SR = 0 0 0 0 0 0 0 0 S 0
P 0 0 8 0 77 0 0 85 £ 0
ZrIE 0 0 3 0 0 0 0 3 T 0
L —F 0 0 1 0 29 0 0 30 vL— T 0
NAT A 0 0 0 0 0 0 0 0 N,F A 0
MRRT =T 0 0 0 0 0 0 0 0 MR 0
77 0 0 ] 0 0 0 0 1 7T 0
S 32 0 0 0 0 0 0 32 S 404
& M 0 0 0 0 0 0 0 0 Vs 0
FET=7 0 0 0 0 0 0 0 0 FET=7 0
ZDH 46 0 0 0 0 0 0 46 ZOM 352
w7 820 0 13 0 285 0 0 1,118 g 5,366
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,

OHIT 4 —H—

- EFEEHA 2 T T EYIREIFEA (200345107)

- HEVBHERE (20034F, 7 L— bk hX—2)
[(B£] 2E@mHA = T T EYRBiiE & Bt O 7 « — 2 —Ri3, Basgh—HL s
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(2) WA
OCTL—hr b UR—IBRBRETFE (000ky)
w= - TS 7 — 5" — @ 3
g | P T | e | vl | A i e 7
## JH 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e & 3.8 0.0 0.0 0.0 0.0 0.0 0.0 3.8
s 5 18.9 0.0 0.3 0.0 3.3 0.0 0.0 22.5
z 14 0.0 0.0 0.0 0.0 0.0 0.0 14
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LRFET 0.0 0.0 35 0.0 0.0 0.0 0.0 35
s AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 5.8 0.0 0.6 0.0 0.0 6.3
ZrJE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L= T 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.2
NATA 0.0 0.0 1.0 0.0 0.0 0.0 0.0 1.0
MRHT>T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7T 0.0 0.0 0.3 0.0 0.1 0.0 0.0 0.3
FES 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.1
& M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FET=T 0.0 0.0 0.2 0.0 0.0 0.0 0.0 0.2
) 0.2 0.0 0.0 0.0 0.0 0.0 0.0 0.2
@7 24.3 0.0 11.4 0.0 4.0 0.0 0.0 39.6
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET
EN TS (TEU) ZEaL T
7 % o W)= o —5"— = -
was | "7 TR T aE e | aE T e B AlE | wad
2 [F 0 0 0 0 0 0 0 0 # [F 0
& & 580 0 0 0 0 0 0 580 = 4
5 3,522 0 49 0 610 0 0 4,181 5] 28
z k& 256 0 0 0 0 0 0 256 7z k& 0
AT T 0 0 0 0 0 0 0 0 Mp TS T 0
LRFET 0 0 535 0 5 0 0 540 SRFET 0
SR = 0 0 6 0 0 0 0 6 S 0
P 0 0 881 0 108 0 0 989 £ 0
ZrIE 0 0 2 0 0 0 0 2 T 0
L —F 0 0 28 0 0 0 0 28 vL— T 0
NAT A 0 0 160 0 0 0 0 160 N,F A 0
MRRT =T 0 0 0 0 0 0 0 0 MR 0
77 0 0 40 0 17 0 0 57 7T 0
S 4 0 0 0 0 0 11 FES 44
& M 0 0 0 0 0 0 0 Vs 0
FET=7 0 0 28 0 0 0 0 28 FET=7 0
ZOM 22 0 0 0 0 0 0 22 FO 4
w7 4,384 0 1,736 0 740 0 0 6,860 g 80
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,

OHIT 4 —H—

- REEHA = T T EYREERE (200345101)
- HEVBHERE (20034F, 7 L— bk hX—2)
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31. @wFE
(1) #d
OCTL—hr FUAR—RBRETE 000k
= & o SN 7 — 57— o 2
P - 7ea4 ey /5] A e
## JH 654.2 0.0 0.0 0.0 0.0 0.0 0.0 654.2
e & 1,402.4 0.0 0.0 0.0 0.0 0.0 0.0 1,402.4
s 5 2,587.9 0.0 0.0 0.0 0.0 0.0 0.0 25879
z 1,630.3 0.0 0.0 0.0 0.0 0.0 0.0 1,630.3
T T 0.9 0.0 0.0 0.0 0.0 0.0 0.0 0.9
LRFET 195.6 0.0 0.0 0.0 0.0 0.0 0.0 195.6
sedifi—n | 1,094.8 0.0 0.0 0.0 0.0 0.0 0.0 1,094.8
e 492.6 0.0 0.0 0.0 0.0 0.0 0.0 492.6
ZrJE 138.0 0.0 0.0 0.0 0.0 0.0 0.0 138.0
L= T 472.5 0.0 0.0 0.0 0.0 0.0 0.0 472.5
NATA 83.7 0.0 0.0 0.0 0.0 0.0 0.0 83.7
MRHT>T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
7T 1.1 0.0 0.0 0.0 0.0 0.0 0.0 1.1
FES 2,567.4 0.0 0.0 0.0 0.0 0.0 0.0 25674
& M 1,626.7 0.0 0.0 0.0 0.0 0.0 0.0 16267
FET=T 36.3 0.0 0.0 0.0 0.0 0.0 0.0 36.3
) 125.9 0.0 0.0 0.0 0.0 0.0 0.0 125.9
@7 13,110.3 0.0 0.0 0.0 0.0 0.0 0.0 131103
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUR— R iR IR H#ESTH
EAITF (TEU) o=l
2R L TS 7 o —5"— = =
A I B e B/ R R S s prarye= I (Ll |
2 [F 38,413 0 0 0 0 0 0 38,413 # [F 13,557
& & 74,432 0 0 0 0 0 0 74,432 % & 12,179
5 152,010 0 0 0 0 0 o| 152,010 5] 106,297
z k& 87,027 0 0 0 0 0 0 87,027 7z k& 17,696
AT T 36 0 0 0 0 0 0 36 Mp TS T 3
Rz | 10,673 0 0 0 0 0 0 10,673 SRFET 134
S 64,729 0 0 0 0 0 0 64,729 S 3,162
P 28,939 0 0 0 0 0 0 28,939 £ 5,533
T 8,586 0 0 0 0 0 0 8,586 T 2,657
~vL—7| 27,283 0 0 0 0 0 0 27,283 vL— T 974
NAT A 5471 0 0 0 0 0 0 5,471 s 1,537
MRRT =T 0 0 0 0 0 0 0 0 MR 0
T 7 42 0 0 0 0 0 0 42 7T 0
EES 130,183 0 0 0 0 0 0| 130,183 FES 13,448
& M 83,839 0 0 0 0 0 0 83,839 Vs 1,620
FET=7 2,078 0 0 0 0 0 0 2,078 FET=7 2,477
ZDH 6,769 0 0 0 0 0 0 6,769 Fo 796
w7 720,510 0 0 0 0 0 o 720510 g 182,071
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,
OHNT 4 —H4—F
- REEHA = T T EYREERE (200345101) 10.1%
- PEEGRE (20034, 71—k hr—2x) 0.0%
[(BL] 2EEE A= T EYRERAE TSN T —F —OFEENRHLD, WREHEHILS, 7 —XEHICHIDE B LI
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(2) WA
OCTL—hr b UR—IBRBRETFE (000ky)
w= —— TS 7 — 5" — @ =
g | P T | e | vl | A i e 7
[ 502.6 0.0 0.0 0.0 0.0 0.0 0.0 502.6
= 759.7 0.0 0.0 0.0 0.0 0.0 0.0 759.7
i [7 3,769.1 0.0 0.0 0.0 0.0 0.0 0.0 3,769.1
7z 1,215.3 0.0 0.0 0.0 0.0 0.0 0.0 12153
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SRR T 49.2 0.0 0.3 0.0 0.0 0.2 0.0 49.6
S 900.8 0.0 0.0 0.0 0.0 0.0 0.0 900.8
Fars 361.9 0.0 0.6 0.0 0.1 0.1 0.0 362.8
ZrJE 96.7 0.0 0.0 0.0 0.0 0.0 0.0 96.7
L= T 372.8 0.0 0.1 0.0 0.0 0.0 0.0 373.0
NAT A 138.3 0.0 0.3 0.0 0.0 0.0 0.0 138.6
VL U v 0.0 0.0 0.0 0.0 0.0 0.1 0.0 0.1
7T 0.4 0.0 0.0 0.0 0.5 0.9 0.0 1.8
FES 3,435.5 0.0 0.4 0.0 0.0 0.0 0.0 3,435.9
& M 1,927.1 0.0 0.1 0.0 0.0 1.7 0.0 1,928.9
FET=F 139.5 0.0 0.0 0.0 0.0 0.1 0.0 139.6
Z O 155.8 0.0 0.0 0.0 0.0 0.0 4.5 160.3
% 5 13,824.7 0.0 1.8 0.0 0.6 3.1 4.5\ 13,834.7
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUR — R #ZBRHE 5T
EN TS (TEU) ZEaL T
7 P L VT o —5— = -
o R B e e pyes= I (i | st
2 [F 27,928 0 0 0 0 0 0 27,928 # [F 10,414
& & 40,211 0 0 0 0 0 0 40,211 5 & 2,639
i [7 181,833 0 0 0 0 0 0| 181,833 5] 8,522
s 57,567 0 0 0 0 0 0 57,567 S 3,596
7T 0 0 0 0 0 0 0 0 Mp TS T 0
LRFET 2,725 0 16 0 0 9 0 2,750 LARRET 114
S 50,790 0 1 0 0 0 0 50,791 S 3,842
P 22,840 0 29 0 6 8 0 22,883 £ 527
ZrIE 5,359 0 0 0 0 0 0 5,359 T 103
~vr—> 7| 17,189 0 8 0 0 1 0 17,198 vL— T 815
NAFA 8,467 0 16 0 0 0 0 8,483 N,F A 57
MRRT =T 0 0 0 0 0 6 0 6 MR 0
77 0 0 0 0 24 50 0 74 77 0
P 232,114 0 22 0 0 0 of 232,136 FES 18,359
&I 119,847 0 5 0 0 96 of 119,948 & I 6,613
FET=F 7,236 0 0 0 0 4 0 7,240 FET=F 1,176
ZDH 8,766 0 0 0 0 0 206 8,972 Z D 2,414
w7 782,872 0 97 0 30 174 206| 783,379 g 59,190

) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,
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- ZEEHA 2 U7 FEYREFEE (2003410H) : 9.9%
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3 2. IR
(1) #d

OCTL—hr b UR—IBRBRETFE (000ky)

" & o SN 7 — 57— o 2

P - 7ea4 ey i1/ U | ot L— T e

[ 4.8 0.0 0.0 0.0 0.0 0.0 0.0 4.8

= 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

i [7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& 0.1 0.0 0.0 0.0 0.0 0.0 0.0 0.1

MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

LRFET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

S 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

ZrJE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

L= T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

NATA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

MRHT>T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

T T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

FES 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

& M 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FET=T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Z O 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

@7 4.9 0.0 0.0 0.0 0.0 0.0 0.0 4.9

) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET

EAN TS (TEU) ZEaL T

7 L VT o —5— = -
v | LT TEm T e [ em | aE e rrE | mad
2 [F 344 0 0 0 0 0 0 344 # [F 1,117
= 0 0 0 0 0 0 0 0 = 0
i [# 1 1 0 0 0 0 0 2 5] 0
s 4 0 0 0 0 0 0 4 S 0
7T 0 0 0 0 0 0 0 0 Mp TS T 0
LRFET 0 0 0 0 0 0 0 0 LARRET 0
SR = 0 0 0 0 0 0 0 0 S 0
P 0 0 0 0 0 0 0 0 £ 0
ZrIE 0 0 0 0 0 0 0 0 Ve 0
L —F 0 0 0 0 0 0 0 0 vL— T 0
NAFA 0 0 0 0 0 0 0 0 N,F A 0
MRRT =T 0 0 0 0 0 0 0 0 MR 0
T 7 0 0 0 0 0 0 0 0 77 0
S 0 0 0 0 0 0 0 0 S 0
&I 0 0 0 0 0 0 0 0 Vs 0
FET=7 0 0 0 0 0 0 0 0 FET=7 0
ZDH 0 0 0 0 0 0 0 0 Z D 0
w7 349 1 0 0 0 0 0 350 g 1,117
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,

OHIT 4 —H—

- EFEEHA 2 T T EYIREIFEA (200345107)
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(2) WA
OCTL—hr b UR—IBRBRETFE (000ky)
w= - TS 7 — 5" — @ 3
g | P T | e | vl | A i e 7
## JH 15.8 0.0 0.0 0.0 0.0 0.0 0.0 15.8
e & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 5 6.3 0.0 0.0 0.0 0.0 0.0 0.0 6.3
Z & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LRFET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZrJE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L= T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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FET=T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@7 57.8 0.0 0.0 0.0 0.0 0.0 0.0 57.8
) EE, B, PE, B, ORI RO — U T UATON Ly R, BATICED TS,
OTEUN— R R IR HEET
EA TS (TEU) ZEaL T
Tl 3 . HESf = o —5"— = o
%@ LR e o 5 T HifE | B
2 [F 1,597 0 0 0 0 0 0 1,597 # [F 2,001
& & 0 0 0 0 0 0 0 0 = 0
5 3,768 0 0 0 0 0 0 3,768 5] 5158
7z # 0 0 0 0 0 0 0 0 7z k& 0
AT T 0 0 0 0 0 0 0 0 Mp TS T 0
LRFET 0 0 0 0 0 0 0 0 SRFET 0
SR = 0 0 0 0 0 0 0 0 S 0
P 0 0 0 0 0 0 0 0 £ 0
ZrIE 0 0 0 0 0 0 0 0 Ve 0
L —F 0 0 0 0 0 0 0 0 vL— T 0
NAT A 0 0 0 0 0 0 0 0 N,F A 0
MRRT =T 0 0 0 0 0 0 0 0 MR 0
T 7 0 0 0 0 0 0 0 0 7T 0
S 0 0 0 0 0 0 0 0 FES 0
& M 0 0 0 0 0 0 0 0 Vs 0
FET=7 0 0 0 0 0 0 0 0 FET=7 0
ZDH 0 0 0 0 0 0 0 0 ZOM 0
w7 5,365 0 0 0 0 0 0 5,365 g 7,159
) EE, B, HE, Fik, SRR O — U TSN TORNT Ty T, BATIZE DTS,
OHNT 4 —H4—F
- REEHA = T T EYREERE (200345101) 15.4%
- PEEGRE (20034, 71—k hr—2x) 0.0%
[(BL] 2EEE A= T EYRERAE TSN T —F —OFEENRHLD, WREHEHILS, 7 —XEHICHIDE B LI

-92 -




ERIFE R No.408

(2) WA
OCTL—hr b UR—IBRBRETFE (000ky)
w= - TS 7 — 57— @ 3
wrrg | P T | e | vk | A |emri o] 7
## JH 42.9 0.0 0.0 0.0 0.0 0.0 0.0 42.9
e & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s 5 119.4 0.0 0.0 0.0 0.0 0.0 0.0 119.4
Z & 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
MR TZT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
LRFET 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
s AR 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
e 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZrJE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
L= T 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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